SITEID : BBNVISER (BBN, University of Maryland, Columbia University, University of Central Florida, submission ID:
BBNVISER_2)

Experiment ID :BBNVISER_MEDI11_MEDI11TEST_MEDFull_AutoEAG_c-LLFeat_2

Events Processed : E006 (Birthday Party), EO07 (Changing a vehicle tire), EO08 (Flash mob gathering),

E009 (Getting a vehicle unstuck), EO10 (Grooming an animal), EO11 (Making a sandwich), E012 (Parade),

E013 (Parkour), EO14 (Repairing an appliance), EO15 (Working on a sewing project)

Scoring Parameters|Cost False Alarm|Cost Miss|Prob. of Target
Value 1 80 0.001

Analysis Report|#Ref| #Sys|#CorDet|#FA|#Miss| Act. PFA| Act. PMiss|Act. NormCost|Min PFA|Min PMiss|Min NormCost|Det. Score

E006| 186{31821 124| 669 62| 0.0211 0.3333 0.5974| 0.0113 0.4409 0.5818|  0.3391

E007| 111{31821 66| 380 45| 0.0120 0.4054 0.5551| 0.0087 04234 0.5317|  0.1396

E008| 132{31821 99| 298 33| 0.0094 0.2500 03674 0.0112 0.2197 0.3592|  0.1637

E009| 95|31821 67| 406/ 28| 00128 0.2947 0.4545| 0.0111 0.3053 04434  0.1013

E010| 87|31821 48| 632/ 39 0.0199 0.4483 0.6970| 0.0098 0.5287 0.6515| 02151

EO11| 140|31821 76| 835 64| 0.0264 0.4571 0.7863| 0.0208 0.4929 0.7526|  0.1007

E012| 231|31821 149 489 82 0.0155 0.3550 0.5483| 0.0138 0.3636 05356/ 0.0714

E013| 104{31821 72| 385 32| 00121 0.3077 0.4593| 0.0087 03173 0.4256|  0.1040

E014| 78|31821 45| 183 33| 0.0058 0.4231 0.4951| 0.0043 0.4231 04770  0.1793

E015| 81{31821 32| 363 49| 00114 0.6049 0.7478| 0.0060 0.6543 0.7295|  0.2623

DET for BBNVISER_.2 : BBNVISER_HMED11_HED11TEST_MEDFull_AutoERAG_c-LLFeat_2
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